

,	Autauga								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Payment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	168.57	\$4.85	\$817.56	\$703.10	\$81.76	\$4.43	158.71	140.26	168.57	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	45.67	\$5.01	\$228.81	\$196.78	\$22.88	\$4.40	44.72	39.52	45.67	\$4.31	\$3.81
Oats	Bushel	All	46.67	\$3.38	\$157.74	\$135.66	\$15.77	\$3.52	38.54	34.06	46.67	\$2.91	\$2.57
Peanuts	Pound	All	3,218.00	\$0.27	\$860.82	\$740.31	\$86.08	\$0.2535	2,920.32	2,580.79	3,218.00	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,107.22	\$0.40	\$834.04	\$717.27	\$83.40	\$0.3509	2,044.06	1,806.41	2,107.22	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	36.57	\$11.12	\$406.66	\$349.73	\$40.67	\$10.65	32.84	29.02	36.57	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-		\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	1,101.00	\$0.23	\$254.11	\$218.53	\$25.41	\$0.2081	1,050.07	928.02	1,101.00	\$0.20	\$0.18
Wheat	Bushel	All	43.57	\$6.21	\$270.57	\$232.69	\$27.06	\$6.00	38.78	34.27	43.57	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



I	Baldwin								Assumes I Proje				Assumes C Assun	nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	Co	2024-25 unty Yield sumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_		_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_		_	_	_
Corn	Bushel	All	_	_	_	_	_	\$4.43	_	_		_	_	_
Corn	Bushel	Irrigated	196.03	\$4.85	\$950.75	\$817.65	\$95.08	\$4.43	184.57	163.11		196.03	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	156.68	\$4.85	\$759.90	\$653.51	\$75.99	\$4.43	147.52	130.37		156.68	\$4.17	\$3.69
Grain Sorghum	Bushel	All	51.25	\$5.01	\$256.76	\$220.81	\$25.68	\$4.40	50.18	44.35		51.25	\$4.31	\$3.81
Oats	Bushel	All	51.33	\$3.38	\$173.50	\$149.21	\$17.35	\$3.52	42.39	37.46		51.33	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-		-	-	-
Peanuts	Pound	Irrigated	4,555.79	\$0.27	\$1,218.67	\$1,048.06	\$121.87	\$0.2535	4,134.32	3,653.61	4	4,555.79	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	3,687.91	\$0.27	\$986.52	\$848.41	\$98.65	\$0.2535	3,346.75	2,957.63	3	3,687.91	\$0.23	\$0.20
Seed Cotton	Pound	All	1,749.86	\$0.40	\$692.59	\$595.63	\$69.26	\$0.3509	1,697.41	1,500.06	1	1,749.86	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-		-	-	-
Soybeans	Bushel	All	-	-	-	-	-	\$10.65	-	-		-	-	-
Soybeans	Bushel	Irrigated	60.99	\$11.12	\$678.21	\$583.26	\$67.82	\$10.65	54.77	48.40		60.99	\$9.56	\$8.45
Soybeans	Bushel	Nonirrigated	41.37	\$11.12	\$460.03	\$395.63	\$46.00	\$10.65	37.15	32.83		41.37	\$9.56	\$8.45
Sunflower Seed	Pound	All	1,131.00	\$0.23	\$261.03	\$224.49	\$26.10	\$0.2081	1,078.71	953.34	1	1,131.00	\$0.20	\$0.18
Wheat	Bushel	All	53.05	\$6.21	\$329.44	\$283.32	\$32.94	\$6.00	47.22	41.73		53.05	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-		-	-	-	\$6.00	-	-		-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



I	Barbour								Assumes I Proje	ction		Assur	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	-	_
Canola	Pound	All	_	-	-	-	_	\$0.1996	_	_	_	-	_
Corn	Bushel	All	_	-	_	_	_	\$4.43	_	_	_	-	_
Corn	Bushel	Irrigated	216.30	\$4.85	\$1,049.06	\$902.19	\$104.91	\$4.43	203.65	179.97	216.30	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	123.30	\$4.85	\$598.01	\$514.29	\$59.80	\$4.43	116.09	102.59	123.30	\$4.17	\$3.69
Grain Sorghum	Bushel	All	39.77	\$5.01	\$199.25	\$171.36	\$19.93	\$4.40	38.94	34.42	39.77	\$4.31	\$3.81
Oats	Bushel	All	45.27	\$3.38	\$153.01	\$131.59	\$15.30	\$3.52	37.38	33.04	45.27	\$2.91	\$2.57
Peanuts	Pound	All	4,576.34	\$0.27	\$1,224.17	\$1,052.79	\$122.42	\$0.2535	4,152.98	3,670.10	4,576.34	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,598.31	\$0.40	\$1,028.41	\$884.43	\$102.84	\$0.3509	2,520.43	2,227.39	2,598.31	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	2,336.93	\$0.40	\$924.96	\$795.47	\$92.50	\$0.3509	2,266.91	2,003.33	2,336.93	\$0.34	\$0.30
Soybeans	Bushel	All	40.75	\$11.12	\$453.14	\$389.70	\$45.31	\$10.65	36.59	32.34	40.75	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	i -
Wheat	Bushel	All	55.67	\$6.21	\$345.71	\$297.31	\$34.57	\$6.00	49.55	43.79	55.67	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	i -
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Blount								Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	179.07	\$4.85	\$868.49	\$746.90	\$86.85	\$4.43	168.60	149.00	179.07	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	у ч .03 -	-	- -	-	\$4.43	-	-	-	γ - 1.17	- -
Corn	Bushel	Nonirrigated	-	_	_	_	_	\$4.43	_	_	_	_	_
Grain Sorghum	Bushel	All	44.53	\$5.01	\$223.10	\$191.87	\$22.31	\$4.40	43.60	38.54	44.53	\$4.31	\$3.81
Oats	Bushel	All	56.00	\$3.38	\$189.28	\$162.78	\$18.93	\$3.52	46.24	40.87	56.00	\$2.91	\$2.57
Peanuts	Pound	All	3,287.01	\$0.27	\$879.28	\$756.18	\$87.93	\$0.2535	2,982.92	2,636.09	3,287.01	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	3,308.76	\$0.40	\$1,309.61	\$1,126.26	\$130.96	\$0.3509	3,209.60	2,836.42	3,308.76	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	47.84	\$11.12	\$531.98	\$457.50	\$53.20	\$10.65	42.96	37.96	47.84	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	74.63	\$6.21	\$463.45	\$398.57	\$46.35	\$6.00	66.43	58.70	74.63	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Bullock								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	1 - 1
Corn	Bushel	All	134.87	\$4.85	\$654.12	\$562.54	\$65.41	\$4.43	126.98	112.22	134.87	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	_	_	-	\$4.43	-	-	_	-	-
Grain Sorghum	Bushel	All	43.75	\$5.01	\$219.19	\$188.50	\$21.92	\$4.40	42.84	37.86	43.75	\$4.31	\$3.81
Oats	Bushel	All	51.33	\$3.38	\$173.50	\$149.21	\$17.35	\$3.52	42.39	37.46	51.33	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,324.59	\$0.40	\$920.07	\$791.26	\$92.01	\$0.3509	2,254.92	1,992.73	2,324.59	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	34.50	\$11.12	\$383.64	\$329.93	\$38.36	\$10.65	30.98	27.38	34.50	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	56.00	\$6.21	\$347.76	\$299.07	\$34.78	\$6.00	49.84	44.05	56.00	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Butler								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	-	-	-	_	-	\$0.1996	_	-	_	-	-
Corn	Bushel	All	94.23	\$4.85	\$457.02	\$393.04	\$45.70	\$4.43	88.72	78.41	94.23	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	_		-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	47.07	\$5.01	\$235.82	\$202.81	\$23.58	\$4.40	46.09	40.73	47.07	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	3,656.95	\$0.27	\$978.23	\$841.28	\$97.82	\$0.2535	3,318.62	2,932.78	3,656.95	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,816.01	\$0.40	\$718.78	\$618.15	\$71.88	\$0.3509	1,761.58	1,556.77	1,816.01	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	39.33	\$11.12	\$437.35	\$376.12	\$43.74	\$10.65	35.32	31.21	39.33	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	50.27	\$6.21	\$312.18	\$268.47	\$31.22	\$6.00	44.74	39.54	50.27	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Calhoun									Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	MY	024/25 (A Price jections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_		0.1996	_	_	_	_	_
Corn	Bushel	All	155.38	\$4.85	\$753.59	\$648.09	\$75.36		\$4.43	146.29	129.28	155.38	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-		\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	_	-		\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	45.00	\$5.01	\$225.45	\$193.89	\$22.55		\$4.40	44.06	38.94	45.00	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	9	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0	0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0	0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0	0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,660.62	\$0.40	\$1,053.07	\$905.64	\$105.31	\$0	0.3509	2,580.88	2,280.79	2,660.62	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0	0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0	0.3509	-	-	-	-	-
Soybeans	Bushel	All	37.03	\$11.12	\$411.77	\$354.12	\$41.18	\$	10.65	33.25	29.38	37.03	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$	10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$	10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0	0.2081	-	-	-	-	-
Wheat	Bushel	All	66.63	\$6.21	\$413.77	\$355.84	\$41.38		\$6.00	59.31	52.41	66.63	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	5	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



CI	hambers								Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	-	_	_	_	_	\$0.1996	_	-	_	_	_
Corn	Bushel	All	129.98	\$4.85	\$630.40	\$542.14	\$63.04	\$4.43	122.38	108.15	129.98	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	_	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	46.33	\$5.01	\$232.11	\$199.61	\$23.21	\$4.40	45.36	40.09	46.33	\$4.31	\$3.81
Oats	Bushel	All	50.00	\$3.38	\$169.00	\$145.34	\$16.90	\$3.52	41.29	36.49	50.00	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,203.27	\$0.40	\$872.05	\$749.96	\$87.21	\$0.3509	2,137.22	1,888.71	2,203.27	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	38.92	\$11.12	\$432.79	\$372.20	\$43.28	\$10.65	34.95	30.88	38.92	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	1,131.00	\$0.23	\$261.03	\$224.49	\$26.10	\$0.2081	1,078.71	953.34	1,131.00	\$0.20	\$0.18
Wheat	Bushel	All	60.73	\$6.21	\$377.13	\$324.33	\$37.71	\$6.00	54.05	47.77	60.73	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



c	herokee								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	144.85	\$4.85	\$702.52	\$604.17	\$70.25	\$4.43	136.38	120.52	144.85	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	_	_	-	\$4.43	_	-	-	-	-
Grain Sorghum	Bushel	All	45.00	\$5.01	\$225.45	\$193.89	\$22.55	\$4.40	44.06	38.94	45.00	\$4.31	\$3.81
Oats	Bushel	All	55.33	\$3.38	\$187.02	\$160.84	\$18.70	\$3.52	45.69	40.38	55.33	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,488.18	\$0.40	\$984.82	\$846.95	\$98.48	\$0.3509	2,413.62	2,133.00	2,488.18	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	38.21	\$11.12	\$424.90	\$365.41	\$42.49	\$10.65	34.31	30.32	38.21	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	65.93	\$6.21	\$409.43	\$352.11	\$40.94	\$6.00	58.68	51.86	65.93	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Chilton								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_		_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_		_	_
Corn	Bushel	All	120.65	\$4.85	\$585.15	\$503.23	\$58.52	\$4.43	113.59	100.39	120.65	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	- -	-	-	-	\$4.43	-	-	-	γ 1 .17	-
Corn	Bushel	Nonirrigated	-	-	_	_	_	\$4.43	_	_	_	-	_
Grain Sorghum	Bushel	All	-	-	_	-	-	\$4.40	-	-	-	-	-
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,065.99	\$0.40	\$817.72	\$703.24	\$81.77	\$0.3509	2,004.08	1,771.07	2,065.99	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	39.67	\$11.12	\$441.13	\$379.37	\$44.11	\$10.65	35.62	31.48	39.67	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	44.83	\$6.21	\$278.39	\$239.42	\$27.84	\$6.00	39.90	35.26	44.83	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Coffee								Assumes I Proje	ction		Assur	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	-	\$6.44	_	-	_	_	_
Canola	Pound	All	_	-	-	_	-	\$0.1996	_	-	_	-	-
Corn	Bushel	All	_	-	-	_	-	\$4.43	_	-	_	-	-
Corn	Bushel	Irrigated	206.00	\$4.85	\$999.10	\$859.23	\$99.91	\$4.43	193.95	171.40	206.00	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	96.12	\$4.85	\$466.18	\$400.91	\$46.62	\$4.43	90.50	79.98	96.12	\$4.17	\$3.69
Grain Sorghum	Bushel	All	35.43	\$5.01	\$177.50	\$152.65	\$17.75	\$4.40	34.69	30.66	35.43	\$4.31	\$3.81
Oats	Bushel	All	45.07	\$3.38	\$152.34	\$131.01	\$15.23	\$3.52	37.22	32.89	45.07	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	4,310.24	\$0.27	\$1,152.99	\$991.57	\$115.30	\$0.2535	3,911.48	3,456.69	4,310.24	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,771.49	\$0.27	\$741.37	\$637.58	\$74.14	\$0.2535	2,515.07	2,222.64	2,771.49	\$0.23	\$0.20
Seed Cotton	Pound	All	1,615.92	\$0.40	\$639.58	\$550.04	\$63.96	\$0.3509	1,567.48	1,385.24	1,615.92	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	34.03	\$11.12	\$378.41	\$325.43	\$37.84	\$10.65	30.56	27.00	34.03	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	ı - l
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	43.40	\$6.21	\$269.51	\$231.78	\$26.95	\$6.00	38.63	34.14	43.40	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Colbert								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Payment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	
Corn	Bushel	All	_	_	_	_	_	\$4.43	_	_	_	_	
Corn	Bushel	Irrigated	213.74	\$4.85	\$1,036.64	\$891.51	\$103.66	\$4.43	201.24	177.84	213.74	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	182.95	\$4.85	\$887.31	\$763.09	\$88.73	\$4.43	172.25	152.23	182.95	\$4.17	\$3.69
Grain Sorghum	Bushel	All	52.33	\$5.01	\$262.17	\$225.47	\$26.22	\$4.40	51.24	45.28	52.33	\$4.31	\$3.81
Oats	Bushel	All	-	· -	-	-	-	\$3.52	-	-	-	-	· -
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	3,279.58	\$0.40	\$1,298.06	\$1,116.33	\$129.81	\$0.3509	3,181.31	2,811.40	3,279.58	\$0.34	\$0.30
Seed Cotton	Pound	Nonirrigated	2,385.34	\$0.40	\$944.12	\$811.94	\$94.41	\$0.3509	2,313.85	2,044.83	2,385.34	\$0.34	\$0.30
Soybeans	Bushel	All	43.49	\$11.12	\$483.61	\$415.90	\$48.36	\$10.65	39.05	34.51	43.49	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	69.90	\$6.21	\$434.08	\$373.31	\$43.41	\$6.00	62.22	54.98	69.90	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



Conecuh										Assumes I Proje	ction		Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre		2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$6.44	_	_	_	_	_
Canola	Pound	All	1,495.00	\$0.23	\$349.38	\$300.47	\$34.94		\$0.1996	1,505.31	1,330.31	1,495.00	\$0.20	\$0.18
Corn	Bushel	All	106.98	\$4.85	\$518.85	\$446.21	\$51.89		\$4.43	100.72	89.01	106.98	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	- -	-	γ -10 .21	-		\$4.43	-	-	-	γ 4 .17	φ3.03 -
Corn	Bushel	Nonirrigated	_	_	_	_	_		\$4.43	_	-	_	_	_
Grain Sorghum	Bushel	All	47.00	\$5.01	\$235.47	\$202.50	\$23.55		\$4.40	46.02	40.67	47.00	\$4.31	\$3.81
Oats	Bushel	All	48.27	\$3.38	\$163.15	\$140.31	\$16.32		\$3.52	39.86	35.22	48.27	\$2.91	\$2.57
Peanuts	Pound	All	3,699.47	\$0.27	\$989.61	\$851.06	\$98.96		\$0.2535	3,357.20	2,966.86	3,699.47	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,717.34	\$0.40	\$679.72	\$584.56	\$67.97		\$0.3509	1,665.86	1,472.19	1,717.34	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	42.37	\$11.12	\$471.15	\$405.19	\$47.12		\$10.65	38.05	33.62	42.37	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	-
Wheat	Bushel	All	55.53	\$6.21	\$344.84	\$296.56	\$34.48		\$6.00	49.43	43.68	55.53	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



Covington									Assumes I Proje		Assumes Cour Assumpt		•	
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre		2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	Payment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_		\$0.1996	_	_	_	_	_
Corn	Bushel	All	91.15	\$4.85	\$442.08	\$380.19	\$44.21		\$4.43	85.82	75.84	91.15	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-		\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	_	_	-		\$4.43	_	-	-	_	-
Grain Sorghum	Bushel	All	44.60	\$5.01	\$223.45	\$192.17	\$22.35		\$4.40	43.67	38.60	44.60	\$4.31	\$3.81
Oats	Bushel	All	50.00	\$3.38	\$169.00	\$145.34	\$16.90		\$3.52	41.29	36.49	50.00	\$2.91	\$2.57
Peanuts	Pound	All	3,847.26	\$0.27	\$1,029.14	\$885.06	\$102.91		\$0.2535	3,491.32	3,085.40	3,847.26	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,905.07	\$0.40	\$754.03	\$648.47	\$75.40		\$0.3509	1,847.99	1,633.14	1,905.07	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	34.31	\$11.12	\$381.53	\$328.12	\$38.15		\$10.65	30.81	27.23	34.31	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	-
Wheat	Bushel	All	47.60	\$6.21	\$295.60	\$254.22	\$29.56		\$6.00	42.37	37.44	47.60	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



Crenshaw									Assumes I Proje				County Yield mption	
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre		2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_		\$0.1996	_	_	_	_	-
Corn	Bushel	All	99.08	\$4.85	\$480.54	\$413.26	\$48.05		\$4.43	93.28	82.44	99.08	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-		\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	_	-		\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	44.40	\$5.01	\$222.44	\$191.30	\$22.24		\$4.40	43.48	38.42	44.40	\$4.31	\$3.81
Oats	Bushel	All	51.93	\$3.38	\$175.52	\$150.95	\$17.55		\$3.52	42.88	37.90	51.93	\$2.91	\$2.57
Peanuts	Pound	All	2,607.81	\$0.27	\$697.59	\$599.93	\$69.76		\$0.2535	2,366.55	2,091.40	2,607.81	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,662.26	\$0.40	\$657.92	\$565.81	\$65.79		\$0.3509	1,612.43	1,424.96	1,662.26	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	36.04	\$11.12	\$400.76	\$344.65	\$40.08		\$10.65	32.36	28.60	36.04	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	i - I
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	i - I
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	i - I
Wheat	Bushel	All	39.53	\$6.21	\$245.48	\$211.11	\$24.55		\$6.00	35.18	31.09	39.53	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	i - I
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



Cullman									Assumes I Proje		Assumes Cou Assump		•	
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	N	2024/25 MYA Price rojections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	47.83	\$5.07	\$242.50	\$208.55	\$24.25		\$6.44	32.38	28.62	47.83	\$4.36	\$3.85
Canola	Pound	All	-7.83	\$5.07 -	7242.30 -	7200.33 -	724.23		\$0.1996	-	20.02	-7.83	74.30 -	,5.65 -
Corn	Bushel	All	192.50	\$4.85	\$933.63	\$802.92	\$93.36		\$4.43	181.24	160.17	192.50	\$4.17	\$3.69
Corn	Bushel	Irrigated	132.30	- -	-	7002.72	, , , , , , , , , , , , , , , , , , ,		\$4.43	101.24	100.17	152.50	γ4.17 -	\$5.05 -
Corn	Bushel	Nonirrigated	_	_	_	_	_		\$4.43	_	_	_	_	
Grain Sorghum	Bushel	All	43.07	\$5.01	\$215.78	\$185.57	\$21.58		\$4.40	42.17	37.27	43.07	\$4.31	\$3.81
Oats	Bushel	All	62.07	\$3.38	\$209.80	\$180.43	\$20.98		\$3.52	51.26	45.30	62.07	\$2.91	\$2.57
Peanuts	Pound	All	-	· -	-	-	-		\$0.2535	-	-	-		
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,859.43	\$0.40	\$1,131.76	\$973.31	\$113.18		\$0.3509	2,773.72	2,451.21	2,859.43	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	50.38	\$11.12	\$560.23	\$481.80	\$56.02		\$10.65	45.24	39.98	50.38	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$10.65	-	-	-	-	ı -
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$10.65	-	-	-	-	, - l
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.2081	-	-	-	-	-
Wheat	Bushel	All	76.00	\$6.21	\$471.96	\$405.89	\$47.20		\$6.00	67.65	59.78	76.00	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-		\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields